+ 46 IF 7 &

(55 8 =)

A

T







D
R
N
ao

TH6FEERSIT—REFMWETE (F8%)

6 FEEFBITO ~RHEEFHHETR (B8 5) X, WIZEDDL LI AITLD,

G A T O 1E)
F15 BECOBARHETEOBREICEASHZENLENL 2 1,
FnEFn8, 682, 353THET%,
2 WBARHTEOMHEDRKEDX L ONYLX 5y T & oafEill
i TEMTE] X5,
(5 1E DHHIE)
F25 MGEOBEML, THE2K HMEFEMLE] ITX5,

S 7 F 2 H 6 HEEH

628 FTHAZEBML, MAEHTED

IZHHIE O AR H T H O &I

R R M

TRH 22 TR Ak H

1R OBA



1 % A % th T " fili 1E

A (Hfr : +M)

K H i OIE AT o A i IE FH it
10 i iz £ B 1,327, 284 35, 267 1, 362, 551
1 i Ji %5 £+ in) 1,327, 284 35, 267 1, 362, 551
14 JeH X th & 1, 395, 202 67, 261 1, 462, 463
2 Jefi fh i) & 545, 993 67, 261 613, 254
21 HT ik 1,027,038 19, 100 1, 046, 138
1 Hy f& 1,027,038 19, 100 1, 046, 138
% A = F 8, 560, 725 121, 628 8, 682, 353




% (Bf7 : T1)
K i IE R © % HoOE % 7t

1 = 65,015 366 65, 381
1 # & # 65,015 366 65, 381

2 # 1,477, 399 4, 498 1, 481, 897
1 #& % " # 447, 697 A328 447, 369

2 1 ] # 789, 740 1, 890 791, 630

3 B i # 71, 629 1, 704 73, 333

4 7 F K =) # 35, 179 1,173 36, 352

5 i3 £ # 14, 107 59 14, 166

3K 2, 324, 858 50, 546 2, 375, 404
1 & Ak # 936, 309 3,816 940, 125

2 2 H fik # 1,294, 619 A1, 390 1, 293, 229

3 5 % £ # 93, 930 48, 120 142, 050

4 526, 345 1,363 527, 708
1 & it 454, 206 1, 363 455, 569

52 KoOE R 193, 870 2,676 196, 546
1 # 193, 483 2,676 196, 159

7+ 1,064, 073 51, 840 1,115,913
1+ 7N H # 29, 876 1,203 31,079

2 i i 2 # 349, 679 49, 583 399, 262

4 #8 i} ] # 670, 823 1,148 671,971

51{E # 5, 780 A4 5, 686

8 1M 229, 014 200 229, 214
19 # 229, 014 200 229, 214

9 # 5} 1,920, 577 5, 391 1,925, 968
1 # 5} # 157, 987 2, 244 160, 231

2 /I e B # 1, 161, 088 A335 1, 160, 753




K H i IE Rl © % O % i
9 # G 3 £ 5% # 242, 287 A240 242, 047
5 ¢t & # 5} # 151, 545 1, 300 152, 845
6 & it (ZS A # 207, 670 2, 422 210, 092
127 fid 28, 616 4,748 33, 364
1¥ i # 28, 616 4,748 33, 364
% = i 8, 560, 725 121, 628 8, 682, 353




B2 kR O kK E M L
B (ifiz: 1)
2ol o B W RO A | o 5k Fil % &' o 5 I
2 SAELIN
10 %L § \
B - st - [ElLamnL EEL RRREUIRCC | I e
10.100| zp = g | WAVBBHEGKOBNAS | o '
BRI I (o REORITL AT | ™0 e 1
e TR TIE, YURRE L | o e s BN
i e LERA 7 L, UTERAIEI
2T HZ LR TE D,




_6_

1 ® A g N AR 1 T 5 = 0 B A
() 10 AR (H) 1 HOEEA R (HA7 - 1)
R . - i N
H WIERTOKE | #li 1IE %8 at X 7 & = q
1 A2 1,327, 284 35,267 1,362,551 1 #i5x8f+Hi 35, 267 | BB AE £
5 1,327, 284 35,267 1,362,551
Gk 14 EEY S () 2 EEEEBS
4 R # E B 4 160, 603 19, 141 179,744 1 LR MG 19, 141 | B 5 - LA 4 (EFLE%E)
8 X Ee = e B 4 246, 912 48, 120 295, 032 11 Wy fiff v I 55 s FE A 48, 120 | Wi i 1 e o 7 15 57 BB 0 05 Bl A B IRE A2 A 4
7 ER M R A ERE
A4
5 545, 993 67, 261 613, 254
Gx) 21 W{E (E) 1 W{E
2 AR 93, 600 19, 100 112,700 9 LK « psk « E 4 19, 100 B ¢ « d 5« FE Lnmp b8 2 xR e
AL B 2o R
e
5 1,027, 038 19,100/ 1,046, 138




2 & i

) 1w (H) 1w (HA7 - T1)
wioE | oo W OR N R i
i ERTO%E il ] i FooE MR B B
H FHIERTOKE il £ %A B + IR _pEtm X 4 & 3 H
EREZH4e F &% o fh
| otk 65, 015 366 65, 381 366 1 ¥ i 230 | 2 a1 FE AT sk 5
2 %4 ¥ 28 Ik B fG
3B F 1% 86 | K T34 16
SRHEREAT BB IR T4 40
SRHEREAT R R 2 T4 30
446 B B 22| LA A S 7
SAHEETHE B A Al e 5
A RBOR A4 10
& 65, 015 366 65, 381 366
%) 2 Bkt (H) 1 B
1 — M| 183, 132 A328| 182, 804 A328| 1 i 120 | 2514 FE AT K B i
#
2 %5 ¥ 2,099 | 1% B 55
S B F 4% 624 B T4 A178
IR F24 550
T4 415
FEEFY 77
PR T4 A270
SRHEREAT BB IK T4 20
SRHEREAT R 2 T4 10
44 BB OAS T e EH S AES Al,511
HEHAG AR A1, 350
2 RBRR A S A310
= 447, 697 A328| 447, 369 A328




) 2 BBE (E) 2 et
wmoE ®m oo MOJE N R i
FIERTO%E il el = = M R 2 B
B FHIERTOKE il £ %A + ¥eoo® MR _pEtm X 4 & it A
EREZH4e F &% o fh
1 | 789, 740 1,890 791, 630 1,890| 1 %k i 600 | £ 3145 FE AT Ik 2
#
2 %4 ¥ 843 |k B fG
I BT HE 262 | HIK F24 112
SEHEREAT BB IR T4 80
SEHEREAT WA 2 T4 70
4 3 B 185 | FM A AaHES 150
SRR B E LA AaHe 10
AR PN S = S R 25
&t 789, 740 1,890 791, 630 1,890
() 2 BBE (H) 3 B
1 BB 63, 398 1,704 65, 102 1,704 1 i 250 | 2 514 FE AT FH sk 58 s
#
2 %4 ¥ 779 Wk B fG
IWBETFHE 570 AR F24 272
T4 228
SAHEREAT BB IK T4 40
SRHEREAT WA 2 T4 30
4 3 B % 105\ EMAsAHES 85
SRR B E LA AaHe 5
a2 RBRH A S 15
& 71, 629 1,704 73, 333 1,704




) 2 BBE () 4 PREERIEABIEE
wmoE ®m oo MOJE N R i
i ERTO%E il ] i ¥ MR B B
H FHIERTOKE il £ %A B + IR _pEtm N & 3 H
EREZH4e F &% o fh
1 PEEER 35, 179 1,173 36, 352 1,173 1 T 230 | 2 514 AT I Ik 58 s
HAGE
# 2 %4 ¥ 498 | Bk B fG
I BT HE 320 [ HAKF24 151
T4 101
R A #2414 A2
SEHEREAT BB IR T4 40
SERHEREAT R R 20 T4 30
43 B B 125 sl & A S 100
SRR B E LA AaHe 10
2 RBRH A S 15
&t 35, 179 1,173 36, 352 1,173
G 2 B (EH) b BEFE
1 S 7,998 59 8, 057 59| 2 & ¥l 30 | & 45
E3=F
3B F 4% 29 IR T4 9
T4 20
it 14, 107 59 14, 166 59
G 3 RAEH () 1 fatEatE
1 Hhatmak| 478,299 2,410 480, 709 2,410 2 %4 ¥l 1,312\ B4
3B F 45 674 | FFET2Y 20
IR F24 371
T4 277
FEEFY 6




_10_

&) 3 RA%H () 1 fatEatE
wmoE ®m oo MOJE N R i
FIERTO%E il el = & R I 2 B
H FHIERTOKE il £ %A ¥ R T N o H
EREZH4e F &% o fh
43 B B 255 & A4
218 H 4 169 | = B fdt 5 PR Bl 225 T <8
2 ZAfEHE| 433,844 883| 434, 727 883|278 o & 883 | /il PB4 pl &5 TR 4 623
1t 1% 0 i F BN A 2 R 260
4 R fE 8, 756 313 9, 069 313| 2 ¥ pa 240 | Bk Bi5 20
(=g SEHER TR E Bk 220
3k B F 5k 73 IR T4 3
SRHEREAT BB IR T4 40
SRHEREAT R 2 T4 30
5 FERES 5, 860 210 6, 070 210 2 #& o 123k B 44
HpsE
3B F 4% 68 |JIK T34 33
T4 35
446 B B 19 L35 & AES
it 936, 309 3,816 940, 125 3,816
&) 3 RA%E (H) 2 WEma#E
1 WEREAL| 1, 026, 130 310| 1, 026, 440 310 1 # i 220 | 2 514 FE AT I Ik 5 sl
B F M 70| 2EHEREAT B B R 24 40
SRHEEAT R R 2 T4 30
4 3 B 20 EHEE AR B LS HEAG AEE 5
2 RBRR A S 15




&) 3 RA%H (H) 2 WEma#E
wmoE ®m oo MOJE N R i
FIERTO%E il el = = M R 2 B
H FHIERTOKE il £ %A B + IR _pEtm X 4 & 3 H
EREZH4e F &% o fh
3 ZELH 4,534 A1, 700 2, 834 A1,700] 1 % i A8T0| &5 FEAT K 5 e i
EE
I BT HE A340| ZFHEET A B IR T4 A180
SRHEREAT R R 20 T4 A160
4 3 B % A460 | ZRHEEAT I B A G AR A190
AR PN = S R A270
8 ik b ¢ A30| ZFHERET R 5 2 g
3t 1,294,619| A1, 390 1,293, 229 A1, 390
& 3 RAE (E) 3 KEXNRE
1 #:&mEak 93, 930 48,120 142, 050 48,120 I E FHE 100 | FERE A4 8075 724
PESIvS
# 0% H % 900 | JHKEANEE 600
1 il A 300
n#& » % 420 | FE T BB 220
HEY)FR 200
18 &4 filigh 46,700\ 2T LB AHES 200
B O 4> i v B o S B S BB AE A (2
s 9, 000
i v B o IS BE RS2 BB A 4 FE
BT ) 37, 500
#t 93, 930 48,120 142, 050 48, 120
() 4 Wk (| 1 (Rfdf R
1 R A 52, 345 1, 008 53, 353 1,008| 1 %k i 260 |2 514 AT A Bk 5 sl

_11_




_12_

&9} 1 CR{E M A%
WOIE ®8M o MO N R i
B W IE AT OO %H 5 E M R i B, L]
— %R X 4 4 A
&\ 5 EE o
W5 2 4 e 538 |k B fA
IWBAETFTHE 285 |[HAK F24 146
T4 59
SEHEEAT B IR T4 50
SEHEEAT B ¥ T4 30
4 3 B ATS| ZFHEET AR S G A g A45
AR PN S S s R A30
3 BREHA 139, 693 235 2 ¥ ¥} 175 |8 854
#
448 B B 60 LA AHE
6 =ln A PR 3, 297 120| 1 ¥ i 190 | &5 1H4F AT FH K 5 e
¥
B —{A1k B F M 30 | & FH AT A B K 24 25
HEE SEHEEAT B ¥ T4 5
4 3 B % A100 | ERHEEAT B B HLEH G AR A50
AR PN = S R A50
it 455, 569 1, 363
GR) 5 EMOKPESEE 1 Y
1 R¥ERE 18, 721 287 2 #& i 126 |k B 45
=
I BT HE 141 | JIK T4 70
T4 43
FEEFY 28
4 3 B # 20 A AHE




GR) 5 EMOKPESEE (H) 1 B¥ER
wmoE ®m oo MOJE N R i
FIERTO%E il el = = M R 2 B
H FHIERTOKE il £ %A ¥ R T N o H
EREZH4e F &% o fh
2 RIS 37, 022 1,639 38, 661 1,639 2% o 968 |k B 45
#
I BT HE 556 |HAK F+24 295
T4 261
446 B B 115 L35l & A4S
4 FoEiR 2,949 340 3, 289 340| 1 ¥ i 250 | 2 514 FE AT A Bk 58 s
P
MR B F M 70| 2EHEREAT B B R 24 40
SRHEREAT WA 2 T4 30
4 3 B 20 EHEE AR B LA AEE 5
2 RBR A S 15
7 HuFETR A 47,141 410 47, 551 410| 1 ¥ i 350 | 2 514 FE T FH sk 58 s
#
SHBF M 110 | &R HEEAT B SR T4 65
SRHEREAT R R 2 T4 45
4 3 B % A0 | #E 2 REEH & H 4
at 193, 483 2,676 196, 159 2,676
&) 7 +AKE (E) 1 EAREHE
1 EAKS 29, 876 1,203 31, 079 1,203 2% o 690 | % B 45
#
IWBAETFTHE 443 IR F24 212
T4 191
FEEFY 40
v - 70| L5 A AR

_13_




_14_

&) 7 LAR% (| 1 EAREHEE
wmoE ®m oo MOJE N R i
H fHIERTOKA i 1E 4 i ¥eoo® MR E q
— IR X 4y & FH
EREZH4e F &% o fh
s 29, 876 1,203 31, 079 1,203
%) 7 LAR% () 2 ERERE
1 EPEER 12,739 301 13, 040 301 2 % ¥l 218k B &5
IME FHE 76 [HIKF24 48
T4 28
44 B B TR A AHS
3 IHEEHER | 215, 228 49, 282| 264,510 19, 141 19, 100 11,041 14 LHGE AT 49,282 LHEALE
R R
#
s 349, 679 49,583 399, 262 19, 141 19, 100 11, 342
) 7 LK% () 4 Rt
1 #Brigtmm 34, 140 1,148 35, 288 1,148 2 &4 i 833 Mk B fG
IWBETFTHE 238 | HAIKF24 172
T4 171
FEEFY A105
43 B B 7S HLA AR
s 670, 823 1,148 671,971 1,148
%) 7 LK% (H) 5 fETt:
1 s 5, 780 A94 5, 686 A4 1 i 10| 2514 AT H 55 B




&) 7 LAR% (H) 5 fETt
wmoE ®m oo MOJE N R i
FIERTO%E il el = = M R 2 B
H FHIERTOKE il £ %A ¥eoo® MR _pEtm N & it A
EREZH4e F &% o fh
# 3B F 45 A0 | ZFHFE AT B B IR T4 A20
SRHEEAT R R 2 T4 A20
446 B B A0 | EEHEAT B B EH A A g A30
2 RBRR A S A10
8 ik # AN 24 | ZEHE AT 8 B THE
it 5, 780 A94 5, 686 A94
(%) 8 1BLt: () 1 B
1 JEH M| 212,570 200/ 212,770 200 2 #& ¥ 159 |k B 44
[k~
IMEFHE 31K T4 30
T4 1
446 B B 10 el & A g
at 229, 014 200/ 229,214 200
) 9 HEH (H) 1 BERBE
2 FWRE | 137,512 2,679 140, 191 2,679 1 ¥k G 190 | 25T AT FH R B i
2 5 #} 1, 267 & B fh
IWBETFTHE 892 IR F24 429
T4 403
SRHEREAT BB IR T4 35
SRHEREAT R 2 T4 25
446 B B 330| Al & A4 305

_15_




_16_

) 9 HEH (H) 1 BERBE
wioE | oo W OR N R i
SERTO%E B = = E B R 2 B
H FHIERTOKE il £ %A ¥ R T X 4 o H
EREZH4e F &% o fh
2 RBR A S 25
3 HH IR 18, 752 A435 18, 317 A435| 1 i A360| 7 Fhi R A50
£ 23 F 1 FEE ATk I A310
3B F 4% A110| 25 HEEE AT B E R F24 A50
SRHEREAT R R 2 T4 60
446 B B 35| EHERL A B LS A Al S 20
A RBROR A4 15
at 157, 987 2,244 160, 231 2, 244
) 9 HEH () 2 INERE
1 SRR | 1, 153, 242 A335] 1,152,907 A335 1 # i 320 zxa HAFREAT I B v 360
#% ST EE T B i A40
3B F 4% A460| 25T FE AT I B R 24 A50
SARHEREAT R 2 T4 AT0
SRHEREAT BB IK T4 A190
SARHEEAT R R 20 T4 A150
446 B B N80 |t 2 REEE & fH 4 55
EAHERET I B 2 L
Eg=EEE 25
2 RBRR A S A90
SAHERET R B 2 L
HAME AT0
8 ik b ¢ A115| ZFHERET AR 5 2 1 g A35
SEHERE TR B 2 E A80




) 9 HEH () 2 INERE
wmoE ®m oo MOJE N R i
FIERTO%E il el = = M R 2 B
H fHIERTOKA i 1E 4 + ¥eoo® MR _pEtm N & A
EREZH4e F &% o fh
s 1, 161, 088 A335| 1, 160, 753 A335
) 9IHEH (H) 3 vheEkcE
| SRR 234,470 A330] 234,140 A330) 1 H P 00 SRR LI 5 i
#
3B F 4% A280 | ZFT AR B B IR T4 A80
SRHEREAT R R 20 T4 A200
44 B B A0 | £ 2 RERE & fH 4
8 ik b ¢ A0 | ZFHFEEEAT & 2 H THE
2 HE IR 7,817 90 7,907 90| 1 # T 80 | 25 1 4F FE AT A B i
#
3B F 45 10| &FHEEAT B SR T4
H 242, 287 A240| 242,047 A240
) 9 HEH (H) 5 HEHEE
1 HE&%H%E 8, 009 325 8, 334 325 1 # i 240 | 2514 EE AT A B el
#
3B F 45 70| 2EHEREAT B B R 24 40
SRHEEAT R 2 T4 30
44 B B 15| &FHEEAHBE L FHA A e 5
2 RBER A S 10
4 WSk 55, 136 235 55, 371 235| 1 # T 160 | 254 FE AT I B i
S A 2
3B F 45 50 | 2 AEFEAT B B IR 24 30
SRHEREAT R R 2 T4 20

_17_




_18_

) 9 HEH (H) 5 HEHEE
wmoE ®m oo MOJE N R i
FIERTO%E il el = = M R 2 B
B FHIERTOKE il £ %A ¥eoo® MR _pEtm N & it A
EREZH4e F &% o fh
4 3 B % 25 EHFE AR B LA AES 5
AR PN = S R 20
5 My R 2 fi 78, 495 400 78, 895 400 1 ¥ i 510 |2 514 FE AT I Bk 5 Al
T i
R i AT0| ZFHEEAT AR B 5k
3B F 4% A80| ZFHEET AR B IR T4 A20
SRHEEAT R A 2 T4 A60
4 3 B % 40 |fE 2R BUORE & H 4
6 kit 4, 252 340 4, 592 340| 1 # i 250 | 2 514 FE AT FH sk 58 s
v R —id
(=g B F M 70| 2EHEREAT B B R T4 40
SARHEEAT R R 2 T4 30
4 3 B % 20 EHEE AR B LA AEE 5
HaRBR A S 15
&t 151, 545 1,300 152, 845 1, 300
) 9IHEH (H) 6 (RIEAEE
1 Rk sE | 122,984 475|123, 459 475 2 &h ¥ 400 | 2EHEEL T I B4R
#
B F M 60 | 2T AEFEAT K B R 7224 50
SRHEREAT R 2 T4 10
4 3 B % 15| &FHEEMAKE REHG AR
2 ?ﬁz%ﬁﬁ 84, 686 1’ 947 86’ 633 1, 947 1 %ﬁ @'H 10 %ﬂﬁfﬁﬁ)ﬂ%&ﬁ%ﬁ@ﬂ




G 9 BHE (#) 6 RIEATH

wmoE ®m oo MOJE N R i
FIERTO%E M E 48 i FooE MR B B
H HHIERTO%E Al % B + IR _pEtm X 4 & H
EREZH4e F &% o fh
# 2 %4 ¥ 1, 642 Bk B 50 52
SRHEREAT BBk 1,590
WA T HE 5 HIRFH 24
T4 28
SRHEREAT BB IR T4 50
SRHEREEAT R Bl ) 724 AT
SRHEEAT R R 2 T4 A90
446 B B 290 | RHEEET AR B L& A S 110
AR PN = S R 180
2 207, 670 2,422 210, 092 2,422
() 12 Tt (| 1 Tl
1 FHg: 28, 616 4,748 33, 364 4,748
2 28, 616 4,748 33, 364 4,748

_19_




